C:h Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers

1) 62x69 = 2) 53x39=
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3 57x66 = 4) B4x57 =
5) 46x42 = 6) 34x27=
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Multiplying Using Arrays Name:. Answer Key
Usethearray provided to solve each problem. Answers
1) 62x69 = 2) 53x39=
4,278
60 9 30 9
: : 2,067
60 ’ E 3,762
(60 x 60) (60 x 9) 50 (50x30)  (60x9)
3,600 1540 1,500 450
: : 3,078
2 pemmeneqg (2@ """ @ 3 bemmog e nm i 1,932
120 18 (3 3030) (3 2><79
918
3) 57x66 = 4) BAx57 =
60 6 50 7
50 (50 x 60) (50 X|6)
3,000 80(¢ 50 (50 x 50) (50 x 7)
i 2,500 1350
[ (7x60)  (dxp) :
420 a2 :
A [T T T
200 28
5) 46x42 = 6) 34x27 =
40 2 20 7
1 i i
(40 x 40) (4% 2) !
1,600 W v (3068020) '(3(2);07
" 6%2) ]
240 12 4 (4 x 20) 5(4 x 7)
5{0) 20
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